Potencias de 10 (I)

Calcule los siguientes productos y cocientes.

6.5931 x 10!

2.9219 x 10!

8.2738 =+ 10!

8.8765 10!

6.1241 = 10!

5.3228 x 10!

8.0667 = 10!

3.698 x 10!

2.5558 + 10!

7.9146 10!

7.7442 = 10!

4.5098 + 10!

3.1617 x 10!

8.6557 = 10!

3.1221 x 10!

5.4602 x 10!

5.0507 + 10!

3.9038 x 10!

4.282 = 10!

4.2319 x 10!
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Potencias de 10 (I) Respuestas

Calcule los siguientes productos y cocientes.

6.5931 x 10!
65.931
2.9219 x 10!
29.219
8.2738 — 10!
0.82738
8.8765+ 10!
0.88765
6.1241 = 10!
0.61241
5.3228 x 10!
53.228
8.0667 = 10!
0.80667
3.698 x 10!
36.98
2.5558 + 10!
0.25558
7.9146 10!
0.79146

7.7442 + 10!
0.77442
4.5098 = 10!
0.45098
3.1617 x 10!
31.617
8.6557 ~ 10!
0.86557
3.1221 x 10!
31.221
5.4602 x 10!
54.602
5.0507 = 10!
0.50507
3.9038 x 10!
39.038
4.282 < 10!
0.4282
4.2319 x 10!
42.319
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